Physics : Section-A (Q. No. 001 to 035)

The work functions of Caesium (Cs), Potassium
(K) and Sodium (Na) are 2.14eV, 2.30 eV and
2.75 eV respectively. If incident electromagnetic
radiation has an incident energy of 2.20eV,
which of these photosensitive surfaces may emit

photoelectrons?
(1) Na only (2) Cs only
(3¥ Both Na and K (4) Konly

The net magnetic flux through any closed surface

is :
(1) Negative (2) Zero
3 Positive (4) Infinity
how any

If the galvano not s ‘
deflection in the the value of R 1S
given by :

400 Q

meter G does
circuit shown,

(2j 200Q

/(Aj 100 Y] 100Q2 .

i ted to the secondary o
W lamp is connectet, 7 ' @12V,69W%Wmﬂﬁam%w%

a12V, 0down transformer, whose primary 18 :

ggni:ggd to ac mains of 220 V- Assuming the. o1 ¥, < st 220 V& W@a % get ¥

transformer to be ideal, what is the current 10 g TR &1 arast "EET, T AR H T &
| (1) 037.A () 027A

the primary winding?
0304 3) 27A @) 37A

o) 037A
@3) 27A 4) 37A o
e gt feeall o & A p-n T TS, T

9y 5 A full wave rectifier circuit consists of two p-Il
- qwﬁw@mﬁ,ﬁumam@iﬁsm

a centre-tapped transformer,

junction diodes,
capacitor and a load resistance. Which of these A EFE A 2 I R Prig q T i
components remove the ac ripple from the 4 :
rectified output? @t (Feftret) fag< I ¥
el (1) = aiY

(1) Load resistance ‘ ‘
(2) A centre-tapped transformer ' 2) Th HAA fFreprl ZRHET

@) p-n junction diodes - df1 TEE
(4) Capacitor ' 8; %—anﬁT
6  In a plane electromagnetic wave travelling in ) s
free space, the electric field component oscillates T GHA Sgagaerd Al A F R a @
p
¥ 1 forge 81 4g Vi | ST A 2.0x10°H

mﬁww%mﬂmm%laﬁiﬁ
&5 % Sl @ ST ¥ (Pt & st &
=3x108 ms™)

o e @0

3) 50 €2

sinusoidally at a frequency of 2.0x10'°Hz and

amplitude 48Vm~. Then the amplitude of
oscillating magnetic field is : (Speed of light in
free space = 3 x 108 ms7!)
(1) 16x107°T (2 16x10°T (I) 1.6x107°T
-8
G) 16x108T () 1.6x107T (3) 16x107°T (4) 16x107'T
[ Contd”

@) 1.6x107T
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wﬁﬁﬁﬁ“
1 104
Sin ty -
1) 2

-1 22
sin | 7. _ 101y
® : sin I(T

1104
(])V sin 1 4
L(105) @ Sin—l(,l——
(3) s T »
. le 0
An electric dipole 15 placed at &1 218 SN
: intensity 2x10 y
. et feld & :1al to4 Nm. Calculate
It experiences 2 torque €q fioole if the
the magnitude of charge 0 the dipolc,
dipole length is 2 cm.
(1) 2mC
@ 6mC
Let a wire be suspended from the ceiling (rigid
support) and stretched by a weight ¥ attached
at its free end. The longitudinal stress at any
point of cross-sectional area 4 of the wire is :

(1) Zero ‘_ef W4
@ w4 ) W/24

iI:: lg;drogen spectrum, the shortest wavelength
I ]e Bal{ner series is ). The shortest
o elznfh in the Bracket series is -
(2) 2
4
C/RY 4) 92

T
te}r]nep;i?tﬁreg;ure of a gas is —-50° C. To what |
s speeq js 1€ gas should be heated so that the
(1) 23k increased by 3 times?
(3) 32950 (2) 669° C
(4) 3097 K - 13

A fo
Sudde(:,tlba“ Player is moving southward and
avoid Y turns eastward with the same spe® o
pla " Opponent. The force that acts on the
(1)Yer while turning is :
Q) along south-west ;
G long eastward «
(4) along northward

) along north-east

with an €
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The ratio of frequencies of fundame ;
‘ , q T % U I IEY G ITH
harmom(_: produced by an open pipe to that TuTgRa a;:r;!;;’“ I ¥

closed pipe having the same length is: * ol Y '

) 331 @ 1:2 N . %1 @ 1:2

Gr 2:1 4 1:3 ] (3) 2:1 R

‘The angular acceleration of a body, moving algg‘_g: B gu A wfify w whme ww R @ B

the circumference of a cj i ©
circle, is : ]
(1) along the axis of rotation '

2) along the radius, away from centre (1), N qET
(3) along the radius towards the centre @) B & s, = 9 i
(4) along the tangent to its position (3) B % oy, ¥ @ &

Given below are two statement i

- ~ 4) zEe fufy & @ % R
Sta_tement_l : Photovoltaic devices can conv @
optical radiation into electricity. &4 A & wow @ ™R

Smt & . . . :
ement IT : Zener diode is designed to operite! Fum 1 : SR girat e fafnte o foeg

under reverse bias in breakdown regi £ sl
) gion. L) . y
In the light of the above statements, choose the: T ¥ i HT wd ¥

most appropriate answer from the options given For 11 ¢ ST STlis S a0 v %
below : o st B BT % AT SR T R
(1) Statement I is incorrect but StatementT¥ STiEa BUel % ded o, 9 K ™ fHew ¥

is correct. gfT
(2) Both Statement I and Statement II % Haffrs STgHR ST )
correct. b (1) ®a= I a8 & & ueg A I & 3

(3) Both Statement I and Statement II ‘%?r"% (2) o A I 9 w99 I @& %)
o5 incorrect. i ©(3) o w1 wu I w8 T ¥

Statement I is correct but Statement I 43 :
incorrect. o 4 =mI1 H?f ¥ g F I & <& 7

_)
IQ If cﬁE d—g' =0 over a surface, then:
4 _

L e 3 ‘
o u&a-—q"{lz%ﬁﬁch:f:E-dS=0 , T
(D) thg‘electric field inside the surface GS} (1) 98 % ST THENH A A AT B

necessarily uniform. Hs ] i
(2) the number of flux lines entering the surfacgy (2) TS H FEAN B AR T ’{@Taﬁj e ;_E
must be equal to the number of flux lines; Bis Aol o LTS 1 AT & qUST
ey

leaving it. . . %}
(3) the magnitude of electric field on tl._wi (3) TS W A & w qfemor fra ¥

surface is constant. o : 3 ot % o §
(4) all the charges must necessarily be inside (4) wH oA, I8

the surface. e o Fe A mmwwwwﬂgﬁﬁa
Resistance of a carbon resistor determined frém) (22000 £ 5% )Q ¥ deX Sz o auf B AL

colour codes is (22000i5%) Q. The colourt%‘p (1) 2) wm@
third band must be : E’F} 4) Aren
(1) Yellow (2) Red Somec (3) = :
3) Green (4) Orange e 4 uH W%WﬁZAWWﬁ%E@
The magnetic energy stored in an inductortof - W o & ¢
inductance 4 pH carrying a current of 2 A is :
(1) 8pl @ 4ul () 8pd
(3) 4mJ (4) 8m) (3) 4ml

@ 4u
4 8 mJ

[ Contd”
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circdit, the inductan.ce L is
F and resistance

Cislp
cy at which resonance

15.9 rad/s
1.59 rad/s

The magnitude and direction of the current in
the following circuit is
20 wov 5V 10

4 E

B

D

7Q
(1) 1.5A from Bto A through E
@) 02A from B to 4 through E
8) 05A from A to B through E

“) g A from A4 to B through E

The minimum wavelength of X-rays produced

by an electron accelerated through a potential
difference of V volts is. proportional to:

a1 v? @
1
G 7 Cm T

TLOP98 1t L9798

The errors in the measurement which arise due
to unpredictable fluctuations in temperature and
voltage supply are :

(1) Random errors
42) Instrumental errors
(3) Personal errors

(4) Least count errors

a9 qun Aeew /A ¥ SN S TG b
Ao § Ffedt ¥
(1) aghes Ffeat
24 For Young’s double slit experiment, two (2) d A
. (3) =afrma et

statements are given below:
Statement I : If screen is moved away from the (4) JTAIHD e

plane of slits, angular separation of the fringes
remains constant.
Statement II : If the monochromatic source is
;:lgaced by lanother monochromatic source of
rger wavelength, the angular se i
fringes decreases. ® pqratlon qf
In the light of the above statements, choose the
clorrect answer from the options given below:
(1) tSrtuatement I is false but Statement II is
e.
A2) ?Oth Statement I and Statement II are
rue.
(3) Both Statement I and Statement 11 are
false..
(4) Statement I is true but Statem
false.

5798 1clidvIs

TEL

ent II i
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A bu
et is fi
280 tred fr
m =14 g om a gun
in . at the speed of
et:]e _d:rection 30° ab:fe tl?e
The maximum height attained by the

horizonta],

bullet js (

: £=98m 5‘2’ o 300:0.5) :
(1) 3000 -

BT 2000 m (2) 2800 m

(4) 1000 m

ﬁsc::,:; en.gine has an efficiency of 50% when
temper. e is at a temperature 327° € The
Ay oo b e
(=] C |
(3) 15°¢ C o Ei; fzjooc Zcmﬁﬁ‘[mﬂ@ﬂ'aﬂ m
st B s @THT ¥ (E N
The amount of energy required ©© form a s0ap pubble ; '
of radius 2 cm from a soap solution iS nearlly :
(surface tension of soap solution = 0.03 N m™):
¢ 50.1x104 ) 30.16x1074
3) s.06x10741 (4 3.01x10~4
dioactive substance is

The half life of a ra Al
e, the activity of

20 minutes. In how much tim

1A - .
substance drops 10 (TE) of its initial value?

2) 20 minutes

(1) 80 minutes
4) 60 minutes

4(() 40 minutes

The potential energy of a long spring when
stretched by 2 cm is U. If the spring is stretched

by 8 cm, potential energy stored in it will be :
a 1u @2V
(3) 4U 4) 8U

The equivalent capacitance of the system shown _
. | Prefiaa oy ¥ weiia e @ gea uft

in the following circuit is :

3uF

3uF

do—] F—

(1) 9 uF
(3) 3uF
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A vehicle travels half the distance with speed

O and the remaining distance with speed 290 .
Its average speed js:

ly 39
S 3

BV
2) 3

29 49
&5 @ 3

The ratio of radius of

gyration of a solid sphere
of mass s and radiu

s R about its own axis to
the radius of gyration of the thin hollo.w 'spl.lere,
O same magg and radius about its axis is :
1) 5.2

() 3:5
A3 5.3 @ 2:5

Two bodies of mass m and 9m are placed at a
distance g The gravitational potentlal. or}‘the
line Joining the bodies where the gravitational

field €quals zero, will be (G = gravitational
Constant) :

20 Gm 8 Gm
M) =t —=5

12 Gm 16 Gm
L) == @ -

—

34 The venturi-meter works on

(1) The principle of

Perpendicular axes
2 Huygen’s Princip

le

s g
?ﬂ;mm%lw

39

O =

29
3

B TR AR
R a1 % U 3 e |
Mﬁq;:ﬁmamww aﬁm:‘
%@ﬁﬁﬁ{ﬂﬂ%ﬂa%m‘wﬁm‘
o ¥
1) 5:2

(3) 5:3

@) 3:5
@ 2:5

E am9mas'€rﬁmgqas§£ﬁ<%tR§ﬁw

ﬁuailgv?faﬁﬁwﬁaﬁh%@q?,ﬁﬁ‘lﬁﬂu%a

sm%,mqmqém(6=mqﬁarmz
20 Gm 8 Gm

W = R @ "R

+ U WA W wY ww deter (C) @ e @ d
D FE ey g @

(1) afcia st P @
) i wirem wear ¥
ORGSR ]
(4) Toemes g gedt
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| Physics : Section-B (Q. No. 036 to 050)

The radius of inner most orbit of hydrogen atom
is 53x10~11 m. What is the radius of third
allowed orbit of hydrogen atom?

(1) 477A (2) 053A

) 106A

The resistanc

@) 159A

e of platinum wire at 0°C is 2Q

and 6.8Q at 80°C. The temperature coefficient

of resistance of the wire is

1) 3x10-1 °C™

€) ax103°Cct @ 3x1
of circuit (as shown in

The net impedance

220 V, 50 Hz

1042 ©

@) V59
e truth table is:

1) 259
3) 159
39 For the fo

Jlowing logi¢ circuit, th

1
tance R are connected
f E and negligible
e connected in

of resis
ery of em
Then those ar

40 . 10 resistors, each
in series to 2 batt
internal resistance.

;vg:ljlculate the maximum acceleration of 2 moving
oor of the car

car so that a body lying on the fl
The coefficient of static

remains stationary:
friction betvxéeen the body and the floor is 0.15

(g=10ms™ ).
-2

41

B

ras) 'SOmsfz (2) 1.2ms

(3) 150ms™ (4) 15ms~

G6_Hindi+English ]

m%aﬁﬁ
—-llm%|

5.3%10
&7

o

(1) a77A

(3) 1.06 A

(1) 50ms™
(3) 150ms >

2
4)

1.2ms’2_

1.5m 5'2
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a -
—m 52
16
A satellite is orbiting just 2OV° the surface of
the earth with period T 1f d is the density ©
_earth and G is the universal constant ©

A3) _Es-m g .

. 3m I
gravitation, the quantity Gz represents -

ay T @ T
N1

@) 1’ i '
A very long conducting wire is bent in a semi-
circular shape from A to B as shown 1
The magnetic field at point P for steady €
configuration is given by :
i—
A
R
P

B

Roil, 2
1) ﬁ[l—;} pointed into the page

Hol . .
) 'ZOE pointed into the page

Bol .
g iR pointed away from the page

il 2
4) 7R []—;] pointed away from page
i};:gf fl"eglr;hSh:}N?hhere, wgat is the equivalent
e combinati
(ASSlllme that all layers are tlll:?;)l‘? n of lenses
m=15 '
l .

AR

n2=]'6 — —
(I) =50 cm
(3Y -40 cm
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TWO i i

but Otll:rils lenses are of same focal lengths (),
When th convex and.the other one is concave.
the equizlare placed in contact with each other,
will be : ent focal length of the combination
(1) Infinite (2) Zero

€)) f/4 %) f/2

A wire carrying a current  along the positive

x-axis has length L. It is kept in a magnetic field

- A A X

B=(2i+3j-4k) T. The magnitude of the
magnetic force acting on the wire is :

(1) BLIL @) 3L

(B) I 4) SIL

A bullet from a gun is fired on 2 rectangular

wooden block with velocity u. When bullet
travels 24 cm through the block along 1ts length om G0 e el @

zontally, velocity of bullet becomes % Then o A t{é — S R § @ & 3% T W

hori

.t further penetrates into the block in the same % dad ¥ e B A

direction before coming to rest exactly at the 1) 30 cm (2) 27 cm
. other end of the block. The total length of the (3) 24 cm (4) 28cm

block is : @) N qﬁﬁgﬂﬁiﬁamﬁﬂaﬂﬁ%"ﬁ‘ﬂa%mﬁﬁ

(1) 30cm
(3) 24 cm (4) 28 cm p ¢ forge e (107 V ¥) ¥ (o= A

An electric dipole is placed as shown in the figure. .
e A = K):

___________.__._-—-—-5 cm P an €

0 . ;
2 IE 5I+ ¢ ‘ 5cm
~9<3m 3 cm i 0 -

The elecftric pf)tentieil (in 1 02 Y) at point P due _ = f “'+ :
to the dipole is ( €, = permittivity of free space E 3 cm E E, 3 cm >

and 47rIeO =K):
o (B

go o (e
o [

5 8
s @x o
A horizontal bridge is built across a river. A TF T I _ I T I ’
student standing on the bridge throws a small TF BF 4m sSTHFIMAG B 8

ball vertically upwards with a velocity 4 m s AT @Y S BHar Bl 4s O/ ¥z T # @
The ball strikes the water surface after 4s. The ZHE 31O @ wE ¥ S 39 1 g
height of bridge above water surface is ‘

: : (g=10ms"2 trhﬁm) .

u
cul 3 ﬁﬁﬁﬂ%lﬂ?ﬂﬁ

oAU

(Take g=10ms"2); :
(1) 68m (2) 56m (1) 68m (2) 56m
(3) 60m (4) 64m ‘ (3) 60m (4) 64m

G6_Hindi+English ] l co
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LChemistry : Section-A (Q. No. @

ne of the

S1  Taking stability as the factor, whi<.:h one
following represents correct relationship?
(1) TI > TIL, @ TICl; > TIC!

(3> Inly > Inl (4) AICI > AlCl3

Identify the product in the following reaction

4+
N2 Cl1
(i) CUZBTZ/I'{BI'

(ii) Mg/dry ether o product

(iii) HyO

OH OH

(1) N ©

B

MgBr

M@ » (5 ©

53  The given compound - ﬁ'CIT o |
CH = CH - CH - CH, CH, A
' | ! CH=CH—C\H—CH2 CH,

kg™

X
X

is an example of '
A vinylic halide  (2) benzylic halide ' W TH SGre ¥
{37 aryl halide (4) allylic halide

In Lassaigne’s extract of an organic compound,
both nitrogen and sulphur are present, which
gives blood red colour with Fe3* due to the
formation of -

(1) [Fe(seN)]**

£ Fe,[Fe(CN)] - xH,;0
(3) NaSCN

(4) [Fe(CN) SNOST—

G6_Hindi+English |
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55

56

57

G6_Hindi+English |

Given below are two statements : one is labelled
as Assertion A and the other is labelled as
Reason R -

Assertion A : A reaction can have zero activation
energy.

Reasons R : The minimum extra amount of
energy absorbed by reactant molecules so that
their energy becomes equal to threshold value,
is called activation energy.

In the light of the above statements, choose the
coprect answer from the options given below :

) A is false but R is true.
(2) Both A and R are true and R is the correct
explanation of A.
& Both A and R are true and R is NOT the
correct explanation of A.
(4) A is true but R is false.

The right option for the mass of CO, produced
by heating 20 g of 20% pure limestone is
(Atomic mass of Ca = 40)

[CaCO3—M>CaO+C02J |
(1) 132¢ @ li2g
¥ 176 ¢ 4) 264

Complete the following reaction :
OH
o —HEN
CN
(A (B]

conc, stO 4
A

—[C]
[C] is

w @m
(2 QOH
3) QCOOH
o) @—CHO

12

55

56

57

%ﬁazﬁmﬁqw%l@“ﬁ‘g R A7 S
oo R fafvea feean T el
ol sl

. aifeTed S BT STEMRNG gy
TR Rmaﬁwm:ﬁ?ﬁrm%‘sﬁmﬁ

7l

g’rm,aﬁmwwimﬁﬁ

ﬂmmmﬁ%ww,ﬁ%ﬁ‘!ﬂqﬁw

ﬁéaﬁwggﬁg: S

1) AEd ¥ 99 [

8 A 3t R aFT @ & ot R, A & 98 =gy
¥l .

(3) A @it R @@ &, 7 R, A &1 @&
T B

(4) A @@ %, wg R a@d ¥

20% Y& I TR FH 20 g B TH T A G
COZ%W%maﬁﬁw%:(Cawm@
I = 40 3))

20K, ca0+ o0, |

) 1.12¢g
4) 264¢g

| caco,

ey
3)

Frfefea siffear @ g1 S :
_OH
CN
[B]

i, H,S0,
A

132¢g
1.76 g

(Al '

>[C]
[C] % -

(1) @500011
(3) QC%H
4) @CHO
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Given below are two statements : hment
Statement I : A unit formed by the attachm

1 as
of a base to 1' position of sugar is known
nucleoside

Statement II : When nucleoside is linked to
Phosphorous acid at 5 '-position of sugar moiety,
we get nucleotide.
In the light of the above statements, choosle the.
correct answer from the options given b'e ow :
(1) Statement I is false but Statement I is true.
+2)” Both Statement I and Statement II are true.
(3) Both Statement I and Statement II a.re false.
(4) Statement I is true but Statement II is false.

A compound is formed by two elements A and
B. The element B forms cubic close packed
Structure and atoms of A occupy 1/3 of
tetrahedral voids. If the formula of the compound

is A,B,, then the value of x +y is in option

a 2 w2y 5
3) 4 4 3

The stability of Cu2* is more than Cu* salts in
aqueous solution due to -

(1) second ionisation enthalpy.

“2)" first ionisation enthalpy.

3) enthalpy of atomization.
(4) hydration energy.

Match List - I with Lis¢ - Im;

List - 1 List- 11
A. Coke L
/

/1L

Carbon atomg are
sP* hybridised,
Used as 5 dry
lubricant

L Used 5 a

reducing agent
v, Cage like -

B. Diamong

74
C. Fullerene /
D. Graphitd,

moleculeg
Choose the ¢

. orrect apsw
given beloy -
(1) A, BV, C
) A, B-1v,
< Q) A1y, B

1, D1t
C-1, Dy
L, C, Dy
AL B, Cqy, py

GG\HindHEnglish |

o ¥

et s o
asqalhﬁ“’“j:ﬁ‘mm@ﬂi\zs\szm
ifﬁ‘qnwuﬁ%swmﬁ%Qm%\m
#ywhsmogh .

) amlm%miﬁqﬁn“’fq

) ﬂi'ﬁl@'(*ﬂﬂﬁﬁ-'ﬂﬂ%\.

(3) Fw I AT F 1 AR srwed ¥\

@) T ITd ¥ uig s I oma ¥

.,

59  uH At A Tl A o B B S g ¥ e B

e dgfwa s TR E AT AN o)
Tﬂgﬁﬁaﬁuﬁﬁﬂﬁﬁﬁﬁ%\ﬂ%ﬁ\ﬁﬂ%ﬁ
AB, B A famedl A A x+y w1 W By
1) 2

er from the options

61 .1 T -

T™-1
A ==

U % W EAE
W™-1
HET T _
sp> Fafa aw ¥
UH TEH H T
¥ SuEm T s B
HAUAE D Wit
SqEm e W ¥
D. Yz V. ferepn o ‘
R Ry T e ¥ ¥ wh s gha:
© (1) AL B-1V, C-L, D-II
(2) A-IL, B-1V, C-1, D-III
(3) A-LV, B, C11, D'lﬁ
(4) AL B, C1V, D-

L

B. ¥ 1L

C. wwlm TIL

[ Contd..-
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Given below are two statements : one is labelled
as Assertion A and the other is labelled as

Reason R :

Assertion A : Helium is used to dilute oxygen

in diving apparatus.

Reasons R : Helium has high solubility in O,.

In the light of the above statements, choose the

correct answer from the options given below :

(1) A is false but R is true.

(2) Both A and R are true and R is the correct
explanation of A.

J3) Both A and R are true and R is NOT the

correct explanation of A.

A @ e fog ¥ o A A o g
@ ‘o R’ fafea fear man @ w
Ao A @ TArE % ST ¥ e
STt B qg T & 0 ST gy g ¥
mR:WﬁOzﬁﬁﬁﬁqﬁw%%l
mﬁqwmﬁ%mﬂ,ﬁﬁqm%
¥ & wé w1 I

(1) A ¥@d t 7g R &

®) AaﬂTRaﬁfHﬁT%aﬁTR,Aﬁqa%

Tl
3) AaﬂzRa‘rﬁm%‘,ﬂgR,Aaﬁw%
&

(4) A is true but R is false.

Some tranquilizers are listed below. Which one
from the following belongs to barbiturates?
(1) Veronal (2) Chlordiazepoxide

(3" Meprobamate (4) Valium

(4) Awa ¥ uig R @A ¥

9 g eliae FATS Y T ¥ F gy
qifeeE & wafta § 7 .
(1) a0 (2)

(3) AdAE (4) e

Preafiiag # & @4 T o b ¥

. BIEEIO %1 SUART ST g SRSt B g
¥ orafaa & & foe frn amr ¥

T 5T ol wuarT Sttafsear ferarfatty % aregmy
% forq fpar wmar 31

~

Which of the following statements are NOT

correct?
A. Hydrogen is used to reduce heavy metal A
oxides to metals. '
B. Heavy water is used to study reaction B
- mechanism. '
C. Hydrogen is used to make saturated fats
D

from oils.
The H-H bond dissociation enthalpy is

lowest as compared to a single bond
between two atoms of any element.
E. Hydrogen reduces oxides of metals that are
E.

more active than iron. :
Choose the most appropriate answer from the

2 R o fe ¥ ¥ wEd SugE It g
(1) ¥a@ A, B,C (2) %aa B,C, D, E

options given below :
(3) %a@ B, D (4) %aw D, E

(1) A,B,Conly (% B,C,D,E only
3 B, D only (4) D, E only

fepdy fafdrse arfufspar & fog,

a = k[AJ[B] ¥ 5/ B & wiwan & e @
%9 A @Y Ui Sigar A AT B S 8, T
T - :
(1) & & o & STl
(2) & TR g uZ
(3) ®: % TH I g§ S

fpdr ot 7 & < el & S UEd oy
& gon § H-H omay foaem oded
B B

y . 2
For a certain reaction, the rate = k[A]”[B], when
the initial concentration of A is tripled keeping
concentration of B constant, the initial rate would

(1Y increase by a factor of three. 5 **
(2) decrease by a factor of nine. « X

() increase by a factor of six.~

(4) increase by a factor of nine.

Which one is an example of heterogenous (4) T & T T FF I

catalysis? Prfifiad & & @e—an Ryl SeRo & I

(1) Combination between dinitrogen and 37 -
(1) w8 ghfa s & suRafa & aﬂl{? L

dihydrogen to form ammonia in the
presence of finely divided iron. % fo SEATEe ol STEETEEH % 41
(2) Oxidation of sulphur dioxide into sulphur ) M & aTaaTEel @l Iyttt ﬁ e
trioxide in the presence of oxides of nitrogen. STEANATES &1 GHT ZRATHEE |
(3) s&T & H' et g safd %qqz

(3) Hydrolysis of sugar catalysed by H* ions.
(4) e ArEEEe @ aRafi 7 A
g

(#) Decomposition of ozone in presence of
nitrogen monoxide.
[ Contd~
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67  Which one of the following statements is

Zlo')mlt;; plays roles in neuron:aus‘cular function
and interneuronal transmission. ‘

(2) The daily requirement of Mg and Ca in the

human body is estimated to be 0.2 - (.3 .

(3) All enzymes that utilise ATP in

transfer require Ca as the cofactor,
(4) The bone in human body is an inert and

unchanging substance.

phosphate

Weight (g) of two moles of the organic
compound, which is obtained by heating sodium
ethanoate with sodium hydroxide in presence of
calcium oxide is -

13 ) 16

3) 32 % 30
69 The element ¢

Xpected to form largest jon to
achieve the
{1) Na

nearest noble gas conf;

2) o
S ¥

(4) N

guration is :

70 The correct ord

er of ener
orbitals of N, m

gies of molecular
olecule, is -

(1) ols<c®Is<g25 <o 2s <I(n2px =7t2py)<

(11:*2px =7t*2py)<0‘2pz <c'2p,

. Complex fropm the following

&y Triamminetriaquachromium (1) chloride
-(2) Potassium tr '

: OXalatoaluminate an
lamminechloridonitrito - N - platinum an

Pentaamminecarbonatocobalt (II1) chloride

GG__Hindi+English ]

(4)

ol o & § -m ad 27

(1) Mg sataitam dsfa srigoe T
SR S & it fromn 3

(2) W& i ¥ Mg ot Ca @ 4 sragamar
0.2-03 g st & 8 3 |

(3) Wt S wiehe Wi & ATP @
wm%,%%{qm~m%wﬁCa
SRR

S BRLENUR B R R R T
T ) : ,

%ﬁ\quqaﬁ'mgahmﬁaﬁﬁ@%ﬂq

AT FrsivemEe b e T ey

A <t B B, sy o)

WA )

() ols<g* s<c2s<g* Zs<(

n2p, =7 2py) <
G2p, < (n' 2p, =7 2py) <c" 2p,

3) ocis<¢* Is<o2s<g* 2s<o2p, <
(RZPX =% 21)3/)<(1t"2px =1r,*2py)<c* 2p,
4) cls<o*ls<o2s<c’ 2s<o2p, <
c" 2p, <(1'|:2px =1t2py)<(1t"‘2px =ﬂ*zpy)

: ipw ¥:
Frafefaa dgal & ¥ Srimies dgw
(1) reeimEREEmRE () TS
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72 Intermolecular forces are forces of attraction ar'];:
repulsion between interacting particles that wi
-include :

A< dipole - dipole forces.

B. dipole - induced dipole forces.
C.  hydrogen bonding.

D. covalent bonding.

E. dispersion forces.

Choose the most appropriate answer from the
options given below :

()ﬁ/ A, C, D, E are correct.
(2) B, C, D, E are correct.
) A B, C, D are correct.
(4) A, B, C, E are correct.

The number of & bonds, 7 bonds and lone pair
of electrons in pyridine, respectively are :

(1) 12,2, 1 D 11,2, 0
(3) 12,3, 0 @ 11,3, 1

Select the correct statements from the
following :

A.  Atoms of all elements are composed of two
fundamental particles,

The mass of the electron is
9.10939 x 10-31 kg,

All the isotopes of a given element show
same chemical properties,

Protons and electrons are collectively
known as nucleons.

Dalton’s atomic theory, regarded the atom
as an ultimate particle of matter.

Choose the correct answer from the options
given below -

) B,Cand E only
&) A BandC only
G) CDand E only
(4) Aand E only

G6_Hindi+English ]

72

mmwmmmmﬁ
WWW%%W%%
B ¥

() A, C D, Ewdg
2 B,C,D, Ewar ¥
G) A, B, C, D ¥
(4) A B, C Ewdg

R & C e g Gﬂﬁ"a’faﬂ‘(sﬁaﬁf%
wwiﬁﬂm ¢ T, ¥

(1 12, 2. 1 2 11,2, 0

3) 12,3 0 4 11, 3, 1

ﬁaﬁiﬁqaﬁﬁﬂamﬁmw%m
A. mi’raa’f%wma‘riﬁwgmaﬁﬁ%l

B. w®M & g 9.10939 x 10731 kg gy
¥l

T o %
T w ¥

ﬁm%mﬁ@a%mﬂaﬁm%ﬁﬂ
U % w9 F [y

%ﬁqmﬁmw‘fﬁ@rﬂﬁmgﬁq:
(1) %% B, C oix E

(2) @a@ A, B ol C

() %@ C, D aix E

(4) %@ A ofix E
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15

Identify product (A) in the following reaction -

Zn-Hg
—_— +2H,0
conc. HC) (A) 2

e statements, choose the
M the optiong given below -
is trye,
Both A and R are true and R g the correct
€Xplanatio of A,
) Both Aand R
Correct €xplan
4 A is true but

are true and R is NOT the
ation of A

R is false,
GG__HilldH—Eng“sh ]

e e % T (A) @ g

‘ G T

TR 2 By ot ot ¥ e A,

TIORG g e 3 o, A g 7 R

" ¥ W T g

e L o I

(2) A ol R & ¥ ol R, o
¥ ; %:q-@R,AaﬁHﬁ '

3) ASIRRINTAE,

( W R s E -

) e ¥ [ Con
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71

Which amongst the following options is correct
graphical representation of Boyle’s Law?

N /

gy ——p

(D

vV

1 vz
Vs

V,<V,<V;3

o —p

2)

P
T3
4) I
T
%} 5

G6_Hindi+English |

77
forequr #7
. !
P
Q)
.
T
P
2
€))
T
P
4
18

Vi v,

P & ¥ SF-81 Siaw & P & TR g,

[ Contd~
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- mber of
The relation between ny, (" = d:,en::: number
permissible values of mﬂg“e"c-quathal quantum
(m)) for a given value of azimu
number (/), is 1

n
W ng-re2 @ 1T

=212 +1
(3) I=2n_+1 ) ngp=2"+

" 1
The conductivity of centimolar solution ?:mlflge
at 25°C is 0.0210 ohm~! cm~! and the re;5°C is
of the cell containing the solution at
60 ohm. The value of cell constant Is -
(1) 3.34 cm! (2) 1.34 cm™
(37 3.28 cm™! (4) 1.26 cm

Consider the following reaction and identify the
product (P).

CH, -CH —cl:H - CH,
|

__HBr_, product (P)
CH, OH

3 — Methylbutan— 2 —ol
T
(1) CH, —,C—CHZ Br
CH,
Br
|
(2) CHy-C-CH, -CH,
l

CH,

(3) CH,CH=CH-CH,

147 CH, —ICH—CH—CH3
|
CH, Br

81  Which amon

gst the following mol]
polymerizati g molecules on

on produces neoprene?

CH,

] l
)] HZC:C—CH=CH2
27 H:,_C=CH—CH=CH2

C\l
(3) HZC =C=H =CH2

@) HC-CH-c=cy

G6_Hindi+Eng)isy 1

5 &
1%

Wiﬁw

dire 25°C T Ry A

%) Reri® _l.-:m A T
(2 134 o
(4) 1.26 cm

—CH
CH3—CH—CH C 3

| l
CH, OH

3 — -2 - S

CH,

I
(1) CHy-C-CH, Br

CH,
Br:
|
) CH, - (\1 -CH,

CH,

(3) CH,CH=CH -CH,

(4) CH,;-CH-CH-CH,

\

CH3 Br

Sy
Prafefas § ¥ @wa sgaet 70 T

IT HOW ?
T
(1) H,c=C-C

' Cl

H= CHZ
CH= CH,
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82

84

85

(2) CH, CONH, —*+——

(3) CH,CN — =i
(4) CH,NC —QLiAy ,

6_Hindi+English |

A .

mo.ngst the following, the total number of
species NOT having eight electrons aroun
central atom in its outer most shell, is

NH,, AICl,, BeCl,, CCl,, PCl5
I 1 ) 3
437 2 4) 4

Amongst the given options which of the

following molecules / ion acts as 2 Lewis acid’

(1) OH- (2) NH3

(3) H0 4) BF;

Given below are two statements - one is Jabelled

as Assertion A and the other 1S Jabelled s

Reason R :

Assertion A : Metallic sod

ammonia giving a deep blue sol

paramagnetic.

Reasons R : The deep blue sol

the formation of amide.

In the light of the above statement

correct answer from the options given

(1) A is false but R is true.

(2) Both Aand Rare true an
explanation of A.

(3) Both A and R are
correct explanation of A.

in liquid

jum dissolves :
which 15

ution,

ution 18 due to

nts, choos€ the’
below :

d R is the correct

true but R is NOT the

(4) A istrue but R is false.

Which of the following reactions will NOT give
primary amine as the product?

(i) LiAlH4
(i) H;0 ®

(1) CH;CONH, Product

Br, / KOH
Product

{f) Lifiby Product

(i) H;0 ®

(DLiAl, Product

82

83

84

85

(i) H30 ©

20

orafe e TE &7
() CH,CONH (i) LiAIH
2 (ii)H30®

(2) CH, CONHz_.sz_’@_>W
(3) CH,CN () LiAlH,

N a0 o
(4) CH,NC () LiAlHy

I T 08 S

[ Contd~
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Chemistry : Section-B (Q. No. 086 to 100) |

Which of the following statements are

INCORRECT?
A. All the transition metals except scandium
form MO oxides which are ionic.

B. The highest oxidation

number
corresponding to the group number in
transition metal oxides is attained in Sc,04
to Mn207.
C.

86

Prefafan § § S wow o T@ 22

A. &Em F it o gwew agd MO
HFEES TR ¥ N ot o) )

B. Wy Tom % wn Somaw st o Sre Seee

u\@ m ﬁ 80203% Mn207 -ai < g‘ﬁ
i3

; ) C. V5038 V,0, % V,04 ® @R o WX @t
Basic character increases from V505 to I THA ¥\

V5,0, to V,0q. )
D. V,0,dissolves in acids to give V()i_ salts

E. CrO is basic but Cr,05 is amphoteric.
Choose the correct answer from the options
given below :

(1) Band C only
(3) B and D only

D. V0, o=t ¥ gt VO, wam m ¥\
E. CrO &il@ ¥ ™t Cr,0, swamdt ¥\
A R o freedt ¥ ¥ W s g

(1) e BAX C  (2) %aw A o E

(2) A and E only B) S BIAIXD (4) = C sk D

(4) C and D only
Consider the following reaction :

@—C-HZ—OQ—I—I&—)A+B

Identify products A and B.

87 Priwiaa sfhben ot fram it
87

Craen S o

AR A 3T B @ wwait)

@) A=®CH3WB=®OH
3) A=®—CH20H@RB=®4
(4) A=®CH21WB=®OH

ﬁﬁ\iﬁ@ﬂ%ﬁﬂﬁﬁﬁ“—“‘@@'i; o
i it e % A W
(1) AH+AU=AnR

(2) AH= AU — An gRT

M A=®CH3 and B=‘©—l

3) A=®CH20H andB=®—l
4) A= @—CHZI and B=®— OH

Which amongst the following options is the

correct relation between change in enthalpy and
change in internal energy?

(1) AH+ AU = AnR

(2) AH=AU-AnRT
(3)
4)

88

AH =AU + AngRT

AH - AU = — AnRT

(3) AH=AU+ A“gRTT
(4) AH-AU="AE

N
pecd
e AP 3
fopert S 9

What fraction of one.edge centred octahedral
void lies in one unit cell of fcc?

1
(1 T

L 4)
3) < ¢

G6_Hindi+English |
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L
2
1
4
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Giv
en below are tWo statemeng,
S

tatement  ; T
:Th i :
€ad 1o entraop, © Nutrient deficjent Water bodijes

Eutrophi.cation leads to decrease

}(:xygen n the water bodies
ft; above statgments, choose. the
Statet I(i);ni l:he Options given below :
v correct but Statement Iy
5 goth Statement I and Statement IT are true.
fc;th Statement I and Statement II are

alse.

(4) Statement I is correct but Statement II is
false.

Whif:h amongst the following will be most
readily dehydrated under acidic conditions ?

NO,
H
NO,

)
O]
OH
@) M\CHs
H
OH OH

3) Hsc/i\/k

N

0
’H
*) - "OH
OH

92  Match List - I with List- II :
List - I (Oxoacids List - II (Bonds)

of Sulphur)
A. Peroxodisul- I. Two S-OH, Four S=0,

phuric acid One S-O-S
B. Sulphuricacid II. Two S-OH, One S=O
C. Pyrosulphuric  IIl. Two S-OH, Four S=0,
acid One S-O-O-S
D. Sulphurous acid IV. Two S-OH, Two S.=O
Choose the correct answer from the options
given below :
(1) A-IIL, B-1V, C-1I, D-I
(2) A-l, B, C-II, D-IV
(3) A-l, B-1V, C-I, D-lI
(4) A-l, B, C-1V, D-lI

G6_Hindi+English ]

;ﬁ%aﬁiﬂ?ﬁqm%:

leq’rwtﬁamﬁmém ify the
) W identify ¥

:;gl.gﬁwﬁw—ﬁﬁmﬁ awmjll 3 following(\')ea"t

Wﬁqwqaaﬁ%mw%&qm

¥ ¥ W T P oy

(1) = I omd & oig &9 M o 3,

2) w1 &t w11 3 & ¥

(3) = I 3R w9 I I o ¥

4) = I8 ¥ g 0 I ot 3

frfefed & & ®F-a1 orcha aRRefw
aftres e ¥ Froffea rm?

) )\/\’/

OH
OH

hict}

CH,
H
94 Identify thg
following §

CH,CHQ

TR - Lo g - I % T R @i
-1 - 10
(ot ¥ (areier)
SR
A. WEESE- I. 2 S-OH, 9 $=0,
TS ot & S-0-S
B. wef® oo Il & S-OH, T $0
C. wdmwrfR@ Il & S-OH, a §0.
ST+

& S-0-0-5
D. wer@ o IV. @ S-OH, & 50
3 fg o e ¥ § W I g
(1) A-IL BV, C-II, DI
@) A-l B, C-II, D-IV
(3) A-IL B-1V, C-, D-II
(4) AL BII, C-IV, D-II

[ Contd-
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93
Identify the major product obtained in the

followung reaction :
o

(0]

3 OH———> major product

COO™
; o o
OH CcCOO™
94

94 Identify the final product [D] obtained in the 1 TEETe)

following sequence of reactions. {) LIAH HASO
LiAIH H,SO CH,CHO ———5—>+ \A\ ——Z—A——)A \B\
CH,CHO 13 I-;30 45 [A] 2A 4 5 [B] i1) H10

Br

< e (e g (o)

Na/LH3aT
(1) HC=C® Na'

5]

Na/dry etheﬁ [D]

(1) HC=C® Na*

133

(4) C4Hyo

The reaction that does NOT take place in a
blast furnace between 900 K to 1500 K
temperature range during extraction of iron is -

(1) CaO+Si0, — CaSiO,

(2) Fe,0,+CO— 2FeO + CO,
(3) FeO+CO— Fe+ CO,

4 C+CO,— 2CO

G6_Hindi+English )
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96 Pumice stone is an example of -
(1) foam (2) sol
3) gel (4) solid sol

97  Which complex compound is most stable?
(1) [co(Nm,), ] 5(s0,)
&)} [CO(NH3)4 (H,0) Br](NO3)2
3) [Co(NH3)3 (Nos)g]

(4) [CoCl, (en), ] No,

98  Consider the following compounds/species -

i. @

-
OO

The number of compounds/species which obey
Huckel’s rule is .

(1) 5 2) 4

@3) 6 4 2

The equilibrium concentrations of the species
in the reaction A+B=C+D are 2, 3, 10 and

6 mol L~1, respectively at 300 K. AG® for the
reaction is (R =2 cal / mol K)
(1) —13.73 cal (2) 1372.60 cal

() —13726 cal ~ (4) —1381.80 cal
On balancing the given redox reaction,

aCry07” +bSO02" (aq) + cH* (aq) —»
2aCr** (aq) + bSO (ag) + E H,0(¢)

the coefficients a, b and ¢ are found to be,

respectively -
(1) 81,3 2) 1,3,8
() 3,81 4 1,8,3

G6_Hindi+English ]

I gy IATET B
(1) ®m &1
(3) & @

B Gpe e e AftE Wl 3o
(1) [CO(NH3) 6] A50,),
@ [Co(NH,),(H,0)Br |(Noy),

@) [Co(NH,),(NOs), ]

(C)) [CoCl2 (en)z] NO;

Frffea difret / ehefer ot R i,

Yool

|| iv. A
a I

ﬁﬁmﬁmmwmm!ﬂﬁm wighy
@ Hem T

(1) s (2) 4

) 6 4) 2

300 K wX sitifssar A+ B=C+D 3§ dhishg &

QTATERT WiwaTd HAsT 2, 3, 10 3T 6 mol L'}
arfifirar & faw AG® ¥: (R=2 cal / mol K)
(1) —13.73 cal (2) 1372.60 cal

(3) —-137.26 cal (4) —1381.80 cal

& T srugETa erfuirar B dgin O W e
a, b 3 ¢ F9M: Ww T &

a Cr)02™ + bSO (ag) +c H' (ag) >

(2) @i &
(4) 39 Tiw 3y

2a Cr** (aq) + bSO2™ (aq) +

(1 81,3 (2)
(3) 3,81 “4)
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105

3 It is a helical

It does not con
hence cannot hol

tain complex helices and

d iodine molecules.

a8 ASSET
Assertio A The first Stage of gan1e10ph)1c " F1
“ﬂ n : s LUl > ©
the life cycle of moss is promncma stage- M"’ﬁ F a9 ¥, e
directly from Fa 3 fas @
Reason R : protonema develops 3@ g : .
; ; i ule. \ |
spores pmducod in caps - o th WA g,i;ll R {ﬁq e "
In the light of the above te i ) E@d Mq (@G@ N ; e yical
appro jate ans m the O jons & Acﬂ"f(R ;
most approP ) -
below : . Zl ) % < R AW AN
(1) Ais not correct put R 1S corf e 3) A 3 R’cﬁ"ﬁ o
W Both A and R are correct R 15 i
t ex Janation of A- e R g £
correct 7 NOT the @) A ad
Both A and R ar¢ correct put R1S |
correct explanation of A. 5 @ 5 - & -~
4) Ais correct but R is not correct 102 @Kﬁf ST, a'd‘é‘ ' .
i 3 ARl H T T faafea &
102 Cellulose does not form plue colour with Todin® )
S ¥
because '
(y It breakes down when jodiné reacts with 1t Q2) a8 TH g‘.{m‘gg E\
) Itisa disaccharide. 3) a5 TH W 1] 2\
molecule- (4) E'E\ﬁ S - o ‘ i
2 qeHT el 1@ Fdtl

103 Which micronutrient is required for splitting of
water molecule during photos nthesis? o '
0 y (1) (2) K
) copper (2) manganese R 4y AR
(3) molybdenum  (4) , magnesium ©) o
104 Expressed Sequence Tags (ESTs) refers to 104 gﬁﬂa:‘ﬁ:ﬂ | s g
(1) Certain important expressed genes. ) F° S Lk re T
(2)- All genes that are expressed as RNA & :ﬁ . aﬂ'j:;'
(3) All ' | iy
@ Al genes that are expressed as proteins. @) ¥ g o ‘f:q gt
- genes whether expressed or @) aa‘“@qsﬁﬂ' et ol
expressed. & T a !
H
@
The thi 3 o
ickness of ozone in a column of air in the | 105 g At @ o
atmosphere i ! A ( i
. e 1S meas“‘,ed .“\ terms Of - . %ﬂ W (4) [ "l“"
e r@"d

(1
2y, Dobson units
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106  Given below are two sta
i Asvertive, & and tements : One is labelled
Reason R : the other is labelled as
Assertion A : :
glycolysis. IR 18 i g thg shops i
Reason R : First ATP is
: used i i
ilrll!;os'e into gl_ucose-6-phosphatenasgn:::ggg
is uged in conversion of fructose-6-
phospha.lte into fructose-1-6-diphosphate
In the light of the above statements, cho;)se the
correct answer from the options given below :
(1) A is false but R is true.
Both A and R are true and R is the co
explanation of A.
Both A and R are
correct explanation of A.
(4) Aistrue but R is false.

rrect

true but R is NOT the

Upon exposure to UV radiation, DNA stained
with ethidium bromide will show
(1) . Bright orange colour
(2) Bright red colour
(3) Bright blue colour
(4) Bright yellow colour

which on€ is

Among ‘The Evil Quartet’, 1e
considered the most important cause driving

extinction of species?

1) Co-extinctions .
(2). Habitat Joss and fragmentation
(3) Over exploitation for economic gain

(4) Alien species invasions

) Which of the following stage
involves division of centr

1) Telophasex 2

Gr Metaphase 11 M) Anaphase 11

s of meiosis

h hormone promotes internode/petiole

110 Whic

elongation in deep water rice?

(1) 2,4D (2) GAjz

(3) Kinetin
f recombination between gene pairs
me as a measurc of the
es to map their position on
d for the first time by

111 Frequency O
on same chromoso

distance between gen
chromosome, was Use
(1) Henking

(2) Thomas Hunt Morgan
(3) Sutton and Boveri

(4)« Alfred Sturtevant-

G6_Hindi+English ]

106 :haaamﬁanﬂ%:@ﬁ"‘mm“ww

%-.Wﬁwaﬂ%
G@q@ﬂ%ﬁrm_

m@m%mwm;

aﬁ?ﬁﬁa'lﬁmﬁ
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112 How many ATP and NADPH, are required for

the synthesis of one molecule of Glucose during
Calvin cycle?

(1) 18 ATP and 16 NADPH,
(2) 12 ATP and 12 NADPH,
(3), 18 ATP and 12 NADPH,
(4) 12 ATP and 16 NADPH,

What is the role of RNA polymerase 1lI in the
process of transcription in Eukaryotes?
(1) Transcription of only snRNAs

(2)~ Transcription of rRNAs (28S, 18S and
5.8S)

(3 Transcription of tRNA, 5 srRNA and
snRNA

(@¥ Transcription of precursor of mRNA

Family Fabaceae differs from Solanaceae and

Liliaceae. With respect to the stamens, pick out
- the characteristics specific to family Fabaceae

but not found in Solanaceae or Liliaceae.

&) Epiphyllous and Dithecous anthers

(2) Diadelphous and Dithecous anthers _

(3) Polyadelphous and epipetalous stamens

(4) Monoadelphous and Monothecous anthers

115 The process of appearance of recombination
nodules occurs at which sub stage of prophase
I in meiosis? 1
(1) Diakinesis (2) Zygotene ‘é
~(3) Pachytene (4), Diplotene >
116 In the equation

[GPP — R =NPP|
GPP is Gross Primary Productivity
NPP is Net Primary Productivity
R here is .
(1) Reproductive allocation
(2) Photosynthetically active radiation
(3) Respiratory quotient
(4 Respiratory loss

117 The reaction centre in PS II has an absorption

Wlllﬁwwm%?

maxima at
(1) 780 nm

5 680 nm
(3» 700 nm

(4) 660 nm

118  Unequivocal proof that DNA is the genetic
material was first proposed by
(1) Wilkins and Franklin
(2) Frederick Griffith
(@ Alfred Hershey and Martha Chase
.(4) Avery, Macleoid and McCarthy

G6_Hindi+.English |
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119 Spraying of which of the following
phytolprmone on juvenile conifers helps in
hastening the maturity period, that leads to early

seed production?

(1) Abscisic Acid

2) Indole-3-butyric Acid
(3} Gibberellic Acid

(4) Zeatin ’

What is the function of tassels in the corn cob?

(1), To protect seeds

(2) To attract insects

(3) To trap pollen grains

(4) To disperse pollen grains

n process for recombinant

During the purificatio
dition of chilled ethanol

DNA technology, ad
precipitates out
9)) Polysaccharides

(3 DNA

(2) RNA
(4) Histones

d and triploid

the haploid, diploi .
uentially

In angiosperm,
rtilized embryo sac seq

structures of a fe

are :
(1) Synergids, antipodals and Polar _nuclei
(2) Synergids, Primary endosperm nucleus and
zygote
(3) Antipodals, synergids, and primary
“ endosperm nucleus ‘
(4) Synergids, Zygote and Primary endosperm

nucleus

a%,ﬁﬁﬂ,gxmgﬂﬂawqméwgww
3@ W g &7

(1) arg w9

(2) e i TEw

(3) uell wRE T

(4) TwTES TR TRT

123 Large, colourful, fragrant flowers with nectar

are seen in :
(1) wind pollinated plants

(2)« insect pollinated plants
(3) bird pollinated plants

(4) bat pollinated plants
Sah qaH i & ot wezivew AR @ @

Wﬁﬁwﬁmaﬁammwlfﬂ

In tissue culture experiments, leaf mesophyll
T @ H1 Fel S Gohal & 7

cells are put in a culture medium to form callus.

This phenomenon may be called as :
(1) Senescence

(2) Differentiation

() Dedifferentiation

(4). Development

G6—Hindi+EngliSh ]
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i ts

5 Given below are two statemen

1 Statement I : The forces

transpiration can lift a l)‘(y

ter over 130 meters e

wta;tement II : Transpiration cools leaf surfages

sometimes 10 to 15 degrees, by evaporative
cooling,

In the light of the ab

most appropriate
below :

generated by

lem-sized column of
ight.

Ove statements, choose_ the
answer from the options given
(1) Statement Iis in
~is correct, .
( Both Statement and Statement IO are
correct.
(3) * Both Statement and Statement II are
Incorrect.
) Statement Lis
incorrect.
126 The historic Convention on Biologijcal Diversity,
‘The Earth Summit’ Was held in Rjo de Janeirg
in the year -
(1) 2002 - (2) 1985
() 1992 4) 1986
In gene gyp metho

d_used to introduce alien DN A
Into host cells, Microparticles of
metal are used,

correct but Statement 11
correct but Statement I is

127

——

(2) Copper
Tungsten o gola

Facilitated D

L iffusion
assive Trap
129 Axile

Sport
Placentatiop, ;

givep
+ D

125 %a\mmﬁ&m‘.%:

FE 1 aofieges
W H W« B 130
FA 1 : el

SO 9 U WREH A %
M. SO To g B

aﬁamﬁmmamiﬁmhqﬁiﬁ!

&R 10-15%:?:6@:35@%}
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ST g

TR IS ¥ ooy w0 3
mmlﬁrmmllﬁﬁiaﬁ%y
TR ST o T Y e ¥
TR IR ¥ wg w1 e 2

ﬁaﬁrﬁmmq'(iﬁmmw

% el ¥ Ry

(1) 2002

(3) 1992

T Hiie ¥ wreh ST, W g HE
%mﬁwwﬁmﬁwmﬁmm%ﬁm%aﬁ
WY 7.

oY wime Py
ELICE T

(2) 1985
4) 1986

T YN ot
I ¥ e
¥ .

. ; \—,hﬁmrxha‘f%m'sﬁ‘cﬁ%l
E. %?%T@%amﬁ%ﬁﬁmm
T R st we ¥ _
%ﬁawﬁwﬁawﬁwmb

() D, E,A () WA’BD’E

(3) WB’ C,D (4) WC, >

& ¥ R T
SR & o ¥ R e wey
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131

replication of DNA takes

Among eukaryotes;
place in -
(1) G2 phase (2) M phase
3)- S phase 4) G, phase
Given pbelow are two statements :
darch and exarch are the terms
scribing the position of

lem in the plant body-
Exarch condition he most
f the root system. -
tatements. choose the
below -
nt TL

tions given
but Stateme

is t

common feature ©
In the light of the above s
correct answer from the op

Statement ¥ is incorrect

is true-

Both Statement I and Statement IL are

true.
Both sStatement I and Statement 1L are
false. )
Statement I i nt I is
false. .

L sl .

henomenon of pleiotroplsm refers to
1) than two gencs affectinga singl_e character.
2) presence of several alleles of a single gene

controlling 2 single crossover.
a3) presence of two alleles. each of the two
genes controlling a single trait.

ffecting multiple phenotypic

4)_a single gene a
expression.
r of heterosporous pterido

s correct but Stateme

P
more

phytes

Identify the pai

among the following :

(1) Eguiseiurr? and Salvirzia

(2)~ Lycopodizrr? and Selaginella

3) Selaginellca and Salviric

(4) Psilorzrmz? and Salvirzia

Given below are two statements : One is labelled
is labelled as

Assertion A and the other

Late wood has fewer xylary

as
Reason R :

Assertion A
elements with narrow V&
Reason R : Cambium is
In the light of the above statements,
correct answer from the options given below :
(1) A is false but R is true. ’
Both A and R are true and R is the correct
but R is NOT the

)
explanation of A.
Both A and R are true

(D)
correct explanation of A.
(43 A is true but R is false.

ssels.
less active in winters.
choose the
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Statements : )
Cnticels are the lens-shaped openings
Permitting the exchange of gases.
ark formed early in the season is called
hard bar_

ark js 3 technical
tissueg exterior to
Bark refers to
Phloem,

term that refers to all
Vascular cambium,
periderm and secondary

single-

layered in thickness.
€ correct answe

r from the options given

List 11
Proteins are
Synthesized
Inactive phage

. Interval between
Mitosis and
initiation of DNA
replication

- Equationg]

Uiescent
Stage

entS, ChQOSe the
NS given below .
S true

Cand R i the Correct
are trye but R i
Trect explanation of A, FNIT e
A s true but R is false.

GG‘HindH-Eng“Sh 1
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139
List I

Iron
Zinc

A. L.
B. 1.
11

Boron
V.

Molybdenum

.
D.

Choose the correct answer from the opti

below :
(1) A-

(3)
@ A-

A-1L.-B-111, C-IV.

14
for chemiosmosis?

(1) proton pump,
synthase
membrane,
ATP synthase
membrane. prot
NADP synthase
proton pump,
synthase

(2)
3)
(4)

Main steps in the fo

DNA are given below.

correct sequence.

A. Insertion©
cell.

Cuttin
restriction enzyme.

C. [solation of desired
D. Ampliﬁcation
Choose the correct answer
below :

(1 B. D, A, C
3): C. A B, D

142 Which or
correct?

(1)~ The amoun
industrial wast

organisms at success
The micro-org
biodegradatio
sewage pollute
of oxygen caus
organisms.
Algal blooms cau
matter in water im
promote fisheries.

B.

2

Water hyacinth gro
§utroph|c water bodie
imbalance in the ecosystem

the water body.

G6_Hindi+English |

Match List I with List II :

I B-IV, C-1. D-1II
AIL B-IL C-L, DIV

D-
1l B-L, C-1V. D-II

0 Which of the following c0
electron gra

proton pump,

on pump, proton gra
elec

rmation of Recombi
Arrange these steps in @

frecom binan

g of DNA at specific

DNA fragment.

of gene ofint
fromt

@ -
,C B
1e of the following stat

t of some toxi
e water in
ive trophic Jevels.

anisms

ing the

sed by excess of organic
prove water quality and

ws abundantly in

List II

Synthesis of auxin
Component of
nitrate reductase
Activator of catalase
Cell elongation

and differentiation
ons given

|
mbinations is required
dient, NADP

proton gradient,

dient,
tron gradient. ATP

nant

¢t DNA into the h‘ost

Jocation by

erest using PCR.
he options given

B,C.D, A

¢ substances of
creases in the

involved in
atter in a

s and leads to an
dynamics of

32
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W i cct
@ hich of the following statements are corr
~ . " )
about Klinefelter's Syndrome?

A.  This disorder was first described by
Langdon Down (1866).

.. —
Such an individual has overall masculin

development. However, the feminine

development is also expressed.

The affected individual is short statured.

Physical, psychomotor and mental

development is retarded.

Such individuals are sterile. '
Choose the correct answer from the options
given below -
(1) Aand E only (2) AandB only
() C and D only (4) B and E only

Match List | with List 1I -

List 1 List II
(Interaction) (Species A and B)
Mutualism I +(A), O(B)
Commensalism II. A), O(B)
Amensalism II. +(A), «(B)
Parasitism IV. +(A), +(B)

Choose the correct answer from the options
given below -

(1) Al B-I, C.1v, pup
(2)  A-IV, B-II, C-I, Doy
(3) AV, B-I, C-I1, p.pp
4) AV, B-III, I, Dy

: A flower is de
shoot whereijn the shoot apical
to florg) meristem,

Reasop R

fined ag modified
meristem Changes

» Choose the

given below - 7

are trye
€Xplanatioy, of A,

B()th A an
corr

@) A
How many iy : .
consigt oy oNt Proteins doeg the ribosome
) 29

2
() 60 ) 5

) 40
GG—-Hi“di"'English |

and R ig the correct

R are true byt R
ect €xplanatiqy, of A,

is NOT the
IS trye but R is false,

D.
T ¥ ;
T :
:ﬁ'&rcmAaﬂTE @) F=
(3) %aw C ik D

Hife
@Igiﬁlﬁww o 11
(TrErfiE) [

A, wEwEm@r i
B. wewifvr :
C

+(A), O(B)

~(A), O(B)
sfcard weefar 1L +(A), —(B)

D. V. +(A), +(B)

A% P 7 Pl ¥ % @ e

(1) A-lIL, B-I, C-IV, D-I1

(2) A-IV, B-IL, C-I, DIny

(3) A-IV, B-I, C-II, Dy

(4) A-IV, B-III, C-I, Do

.

() A oo ¥ weg R v 3

() A 3 R i wa ¥ o R, A @ wét @@
%l T PR

() A TR ww ¥ ueg R, A B @ ?
R ¥

(4) Aw™ ¥ urg R o@d ¥

_ - o B ¥ ?
146  TraEm ¥ Reay -

) 80
(4) 40

(1) 20
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{'z;_)s Match List I with List IT :

149 Melonate in

147 Match List I with List IT :

List I
A. Cohesion I.

List II

More attraction in
liquid phase
Mutual attraction
among water
molecules

Water loss in
liquid phase
At{raction towards
polar surfaces
g‘l/c;zsebe}l;i c:orrect answer from the options
(1) A-II, B-I, C-1V, D-lII

(2r A-IL, B-IV, C-I, D-III

(3) A-IV, B-II, C-II, D-1

(4) A-II, B-1, C-1V, D-II

B. Adhesion

C. Surface 1L
tension
D. Guttation V.

List 1

Oxidative L
decarboxylation /
Glycolysis I

List II

Citrate

synthase
Pyruvate
dehydrogenase
Electron ’
transport system
IV. EMP pathway

Oxidative 111
phosphorylation
Tricarboxylic N
acid cycle

Choose the correct answer from the options given

below :

(1) AL B-IV, C-l11, D-1

(2) AL B-1V, C-I1, D-I

(3) A-l, B-IV, C-1, D-1I

W4) A-Il, B-l, C-1, DIV

hibits the growth of pathogenic

bacteria by inhibiting the activity of

(1) Dinitrogenase

(2¥ Succinic dehydrogenase

(3) Amylase

(4) Lipase

Given below are two statements : '
Statement I : Gause’s ‘Competitive Exclusion
Principle’ states that two closely related species
competing for the same resources cannot co-
exist indefinitely and competitively inferior one
will be eliminated eventually.

Statement II : In general, carnivores are more
adversely affected by competition than

herbivores.
In the light of the above statements, choose the

correct answer from the options given below :
(1) r Statement I is incorrect but Statement I

is true.
Both Statement Land Statement Il are true.

(3) » Both Statement I and Statement II are

false. ]
(4) Statement 1 is correct but Statement II is

false.

G6_Hindi+English |

34

A-IL, B, C-1V, D-1II
A-1l, B-1V, C-1, D-11I
A-1V, B-111, C-II, D-1
A-IIL, B-I, C-1V, D-II

@Iﬁ@ulﬁwugﬁﬁaﬂa&&m:
T 1 LSURY
e Rigw

A, orEERied L
qEEde e

AprEraae
B. waweew L
[l e aiEeT o

C. omaRfE
HRHIT AL

D. ZEEEIRD

3 b
&3 R T Pt ¥ @ IR T
(1) AL BV, C-IL DI
(2) AL BV, C-IL DI
(3) AL BV, C-I, D-III
(4) A, B-L, C-IL D-IV
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& gfg @ A ¥
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(4) S
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151

152

153

154

Zoology : Section-A (Q. No. 151 ¢, 185)
Match List I with List II.

List I List 11

A Gene ‘@’ L. B-galactosidase

B. Gene ‘y’ Transacetylase

C. Gene ‘7’ Permease

D. Gene ‘Z’ * Repressor protein
Choose the correct answer from the options
given below:

(1) A-IL B-I, C-1V, D
& AL B, C-IV, D1
(3) AL B-IIIL, C-1v, D]
(4) A-IL B-IV, CI, D
Given below are two statements:

Statement I: Ligaments are dense irregular
tissue.

Statement I1: Cartilage is denge regular tissue.
In the light of the above

statements, choose the

(4) Statement I s trye but Statement I7 js false.
Given below are two statements: one is labelled
nd the other is labelled as

Reason R: Ban On amniocentesis checks
increasing men

ace of female foeticide.
In the light of the above statements, choose the
correct answer from t

he options gjven below:
(1). A'is false but R is true.

- Both A and R are true and R is the correct
explanation of A,

¥¥ Both A and R are true and R is NOT the
correct explanation of A,
(4) A is true but R is false.

Match List 1 with List II.
List I List 1
(Type of Joint) (Found between)
A.  Cartilaginous . Between flat
Joint skull bones
B. Ball and Il Between adjacent
Socket Joint vertebrae in
' vertebral column
C.  Fibrous Joint I Between carpal and
metacarpal of thumb
D.  Saddle Joint IV. B

etween Humerys
and Pectoral girdle

Choose the correct answer from the options

given below:

(1) A1, B-1v, C-111, DI
(2) AL, B, C-II, D-IvV
(3 AL, BV, C-1, D-INI
(4) A-L, BV, C-III, D-II

G6__Hindi+English 1
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T fermped) &
(1) A1, B, cay, py
(2) AL, B-1, CIv, Doy
() A-IL, BT, C1v, D
(4) AL, BV, C-1, Doy
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:?_ﬁ;@ Probeardt #svemman
: qa;s HYA 3T
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USRI
G ¥ Hey
ﬁﬁﬁmﬁmﬁﬁaﬁwwwwﬁl
(1) A-l, B-V, C-III, DI

(2) A, B-l, C-II, D1V i -
(3) A-Il, B-1V, C-1, DIl

(4) A-l, B-IV, C-III, D-II

A.

B.

C. Wwmafy . I

D. dsw @iy Iv.
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166

Given below are two statements:
Statement I: Vas deferens receives a duct from
seminal vesicle and opens into urethra as the

ejaculatory duct. .
Statement II: The cavity of the cervix is called

cervical canal which along with vagina forms

birth canal.
In the light of the above statements, choose the

correct answer from the options given below:
(1) Statement I incorrect but Statement II is
AY ggteh Statement I and Statement II are
3) :l%l)fl‘l Statement I and Statement II are
)] Si:fe.ment I is correct but Statement II is

false.

Which one of the following techniques does not

serve the purpose of early diagnosis of a disease

for its early treatment?

(1) Enzyme Linked Immuno-Sorbent Assay
(ELISA) technique

(2) Recombinant DNA Technology

(3) Serum and Urine analysis

(4) Polymerase Chain Reaction (PCR)

technique

Which one of the following common sexually
transmitted diseases is completely curable when
detected early and treated properly?

(1) HIV Infection (2) Genital herpes

(3) Gonorrhoea (4) Hepatitis-B

Which of the following is not a cloning vector?
(1) Probe (2) BAC
(3) YAC () pBR322.

Match List I with List IL.
List I List 11 pre

A. CCK . Kidney
B. GIP II. - Heart
C. ANF.- IIl. Gastric gland

D. ADH .~ IV. Pancreas
Choose the correct answer from the options
given below:
(1) A-1V, B-II, C-lI, D-1
£) A-1V, B-1lI; C-11; D-1
(3) A-II, B-II, C-1V, D-1
1+ (4) A-ll, B-1V, C-1, D-II

Which of the following are NOT considered as
the part of endomembrane system?
A. Mitochondria cua v Y
B. ' Endoplasmic Reticulume
Chioroplasts
Golgi complex
[é.h Peroxisomes . ;
oose the most i
SpEions B belg‘[;)v;.)roprlate answer from the
A, D and E on] :
A y (2) B and D onl
»Cand E only (4) A and D onlz

N
oo o . A U(\\(
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155 i < o R g ¥ ¢

o I: gt I & b A I Faw
mwﬁmﬁvmﬁ%wﬁw%l
F I1: afia & e & Gaea A Bed ¥ W
Ay % @1 o AT S
wﬁaﬁwﬂ’fﬂsmﬁﬁf,?ﬂ%ﬁqm{ﬁaﬁﬁﬁﬁw
I @1 99 B

(1) = I or & dfa & 11 & &1

(2) o wo [ wd I & 2

(3) A Fom I 11 o 2

(4) F [ g@ ¥ b Fo I o &

P & & ST qadie T TR & RIS STER %

g Wi P A SRt T 87

(1) Usiga gew wRcEn 9o ST (Teen)
(2) g ey deEfm -
(3) @ wd g7 fasdw
(4) Qs A Rogee (e @S
fre & § @ @ g A gaia I BT afs o
AT T WY ST I S & TR B W i o
& & ghd © 7
(1) Toomd gwam  (2) Wt g
(3) & (4) gFanu-B
fr § ¥ B TR dared T8 87
(1) 9= (2) BAC
(3) YAC (4) pBR322
o 1% T I F wa gafed &1
w1 o 10
A. dh I g%
B. Siemddr . &4 :
C. TUH . <t ik
D. ww™ IV. or=aed
9 Ru o Rt ¥ 7@ ST B 9aT U
(1) A-1V, B-II, C-III, D-I
(2) A-1V, B-II, C-II, D-I
(3) A-II, B-IL, C-IV, D-I
(4) A-II, B-1V, C-I, D-IIl
forer & @ @ R aia:Rifewet @ &1 W TE AW @
g7
A. GBI
B. sl wfemn
C. U@
D. Tiesi |iHL
E. wd=iEm
P faeedl @ wad Sh@ SAX @1 9ad &l
(1) %a@ A, Dwd E (2) %aw Bud D
(3) ®aw A, Cwd E (4) &aw Awd D

[ Contd.~
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1 Match List I with List 1I.
16 List I

List 11
i - Nephridja -
i ITJZi’:rg:oecium, - 1L Ontractile vacuole .
Periplaneta jus ame cellg

t L with Lige I with Tespect to human .

List 1 ,
Visible Coloureq Portion
of eye that regulateg
diameter of pupil,

Xterna layer of eye
Ormed

of denge
Connectiy

€ tissye,
oint of

_ Parasitigy, « -
root ofa highe, JUR Utualigm,
1Zag

';“ﬁ EIQ B i C-1 D-1V

A-l1 B"l"’ i D_l\[
(l) A—l 2 B_ll, C‘llls D_]ll
(2) A_l, B-llg C-lv, D-"
((i% AL, BV, C-1



https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

165 Which. of the following statements are correct
regarding female reproductive cycle?
A.  In non-primate mammals cyclical changes
during reproduction are called oestrus cycle.
P. flrst menstrual cycle begins at puberty and
is called menopause.
C. Lack of menstruation may be indicative of
pregnancy.
D. Cyclic menstruation extends between
menarche and menopause.
Chgose the most appropriate answer from the
options given below:
. (I)x A, C and D only
W A and D only
3)x A and B only
(4) X A, B and C only

Given below are two statements:

Statement I: Low temperatureé preserves the
enzyme in a temporarily inactive state whereas
high temperature destroys enzymatic activity
because proteins are denatured by heat.
Statement II: When the inhibitor closely
resembles the substrate in its molecular structure
and inhibits the activity of the enzyme, it is
known as competitive inhibitor.

In the light of the above statements, choose the
correct answer from the options given below:
(1) Statement I is false but Statement II is

true. ‘
(2) Both Statement I

true.
Both Statement I an
false.
(4) Statement I is true b
false.
Radial symmetry is NOT fo
phylum
(1) Echinoderm
(3) Hemichordata
Match List I with List IL.
List I List II
Vasectomy . [ Oral method
Coitus Y [I. Barrier method

interruptus
C. Cervical caps\ I
D. Saheli
Choose the correct answer
given below:
¥1) A-1V, B-ll, C-1, D-lII
() AL B-1, C-1V, D-lI
A1, B-1V, C-11, D-1
(4) A-11, B-111, C-L, D-1V

G6_Hindi+English ]

and Statement II are
d Statement II are

ut Statement I is
und in adults of

ata (2) Ctenophora
(4) Coelenterata

Surgical method
V. Natural method
from the options

165 P & & AT o 9 & o ¥ B B

¥?

A. M—mmmﬁﬁw%aﬁm
Rl @ FEE TF FEd ¢

B. wu g 9% A 9 9 T ¥ Ry
wifgh #ea ¥ ‘

G m‘g’aﬁaﬁa@rﬁuﬁfmﬁmﬁm%,

D. ki wgad e ¥ TR 9% 2

4 R T Rt F & TR IR ST H T FY

(1) ¥a@ A, Cw@ D

(2) ¥ AW D

(3) Haw ATE B

“4) Faw A, BT C

Tﬂ%'@lﬁﬂﬂﬁﬁm}%!‘ _
wl:ﬁﬁamwﬁméw%ﬁm

mﬂ‘g{fmw%lmﬁwﬂmw
aﬁmaﬁmﬁﬂm&m%lﬁﬁ%ﬁm%m

foga & W ¥

Hef Hea E @ W

s wol 3 v § A R T
Ia @1 9ad |

) amlm%ﬁﬁmwﬂw%l
(2) @i o 1 e I & E

3) a’ﬁ‘fmmlqz'rllamﬂ%l

@) amlam%aﬁmmmnm%u

o 1l % T g a0
o | o 10

A gaeg e | o s e f
B. & ®oT 1l
c. s et a0

D.
S fog e ferael

) AV, B, L, D-111
@) AL B, CIVs D-II
3) AL, BV, G-I, D-I
4) A-lL, B-II, C-L DIV
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atch List T wig, List 11.
169 M List I List I1
(Cells) (Secretion)
- Peptic cells. I ucus
- Goblet cells II. Bile Jjuice
- Oxyntic celjg L. Proep
- Hepatic ce|jg IV. Hql

\for absorptio
in B

Vitamin
Choose the Correct apg
given below:
(1) A, B-Iv, C-1, Dy,
B, C-II, D
-1, CHII1, D-1v .
-1, B-1, C-1v, D-11
170 In which blo

od COrpuscles, the
replication ang Produceg
Eosinophis

Progeny v
3) B-lymphocytes
@ Vital

(%)~ 'II;H cellg

Zyme Pepsinogen
and intrinsic factor

n of

Wer from the Options

v Undergoeg

ruses?

A . (]
m:mmﬁr@swﬁm_
STIR T 3 e &, 49 Rog e oy 3
Gﬁlﬂﬁ'ﬂ'{ﬂﬂﬂ;ﬁa;ﬁﬁlkm%l
(1) A sy R & 1w s 1
{RIMt g ¥ @ R, A o e
5 iqq;kaﬁm%qa&fﬁ“ﬁw
T

) A ¥ A R o b

[ Contd...
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174 Select the correct gro
Marsupials exhibitinggadzLal;))t/is\feet rg;ﬁ.ustral‘:an
(1) Lemur, Anteater, Wolf o
gi; :Iasmanian wolf, Bobcat, Marsupial mc;le
umbat, Spotted cuscus, Flying phalan
(4~ Mole, Flying S(]uirrel, Tasmanian tiger %::

W Match List I with List IL
List I List IT -
A. Heroin I. Effect on
cardi
B. Marij_uana o IL Slov:rodV:vsv(;uLfd;yfsiin}
C. Cocaine II1. Painkiller eron
D. MorphineZ  IV. Interfere with transport of
dopamine
Choose the correct answer from the options
given below:
(1) AL B-1V, C-I, D-II »
) AL B-1, C-1V, D-III
3) AL B-I1, C-1I1, D-IV
) A-1v, B-11I, C-II, D-I

Match List I with List IL
List I List IT

A. Ringworm 1. Haemophilus inﬂuenzaé
B. Filariasis_ II. Trichophyton
C. Malaria  HL Wuchereria bancrofti
D. Pneumonia IV. " Plasmodium vivax
Choose the correct answer from the options
given below:
(1) A-1IIL, B-II, C-1v, D-1
\ A-Il, B-III, C-1V, D-1
(3) A-lI, B-IIf, C-1, D-1V
(4) A-11, B-lL, C-1, D-1IV
are two statements:
Electrostatic precipi

thermal power plant.
tic precipitator in

s ionising radiations

' 176

177 Given below
Statement I:
widely used in
Statement II: Electrosta

thermal power plant remove
In the light of the above statements, €
most appropriate answer from the options given

tator is most

below:
orrect but Statement II is

(1) Statement I inc
correct.

(2) Both Statement I an
correct.

(3-)(Both Statement 1 and St
incorrect.

(4) Statement I is correct but Statement II is

incorrect.

G6_Hindi+English |

hoose the

d Statement II are

atement II are

fafpcor frary @@ eefar fugee %

@Iaﬁ@ll%m&gﬁﬁﬁwﬁl

T I , = 11
A. TEOEA [ &g =feel O 9 9HE
B. Afgem 1. X % Wbl &

dHAT BT

C. @A . EfErte
D. Hi®H v, S ¥ uftaes & awn
ﬁﬁ‘lwﬁﬂiﬁfﬁﬁﬂﬂﬁﬂwﬁl.
(1) A-lIL B-1V, C-L, D-II

A-Il, B-1, C-1v, D-11I

A-l, B-11, C-II1, D-IV

A-IV, B-1II, C-1I, D-1

D.
A

frrnfran :
fom g Rreat ¥ @ w8 ST @1 99 B
@) A-IIT, B-11, C-1v, D-1
2) A-I1, B-1II, C-1v, D-1
3) A-l11, B-111, c-1, D-1V

“4) A-111, B-II, C-1, D-1V

ﬁ%é‘r?ﬁmﬁqm%:
e T: g SraaT
wﬁﬂﬁmﬂaﬁ%
mmll:mﬁgﬂﬁﬁ?ﬁa@mmmﬁm
fafpeor @ T B
sqgaaesuﬁasmaﬁ:nammwwaﬁ
sat @ T B
(1) Fm 1 oEd
) ot e L 1

ﬁgaﬁﬁﬂﬁmmff

%Wmmﬂw%i
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178 Given below are stateme
Assertion A apg th

nts: one is labelled as
Reason R.

¢ other is labelled as

& Juxta medullary,

position in cortex ang medulla. ~
Reason R: Juxta medullary nephrons have short
loop of Henle Whereas, cortical nephrons have
longer loop of Heple. ‘
In the light of the above
correct answer from the options given below:
(1) Ais false but R i true. .

(2) Both Aand R are true and R s the correct

explanation of A_

() Both A and R are true but R
correct explanation of A
A is true but R is false.

179 Which of the following functions is ¢
by cytoskeleton in a cell?

(1) Transportation

(2) Nuclear division

(3) Protein Synthesis
4 Motility

arried out

180 Broad palm with sin

gle palm Crease is visible in
a person suffering fy

om-
(1) Thalassemja
2) Down’g Syndrome
() Turner’s Syndrome,
O] K\inefelter’s Syndrome

t In prokaryotes, the
A g held w

. Positively
ith so

false.

GG__Hindi+Engﬁsh \

179 Bt % w0 g

me Negatively

wk:vﬁmqmmm@iﬁmmm@a
A ¥ wuhs TR N s T
Ry B ¥

wgﬁasu-vﬁ%smax ¥, ¥R

ﬁqmﬁ%ﬁﬁ%

@y Aw%%ﬁmRm%\
. .

o s 2y
(1) uiEes
) Fd faror

WA Wt
QA

ﬁﬁmﬁmﬂmm

{ ¥ e e ey s
Hﬁﬁﬁ%@ﬁm%ﬁﬁwm g
\

g -a-mh
HRL % v ¥, A g i Pt
T = A

F | v ¥ e Fow 1w
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182 Match List I with List II. ‘
f5 1 Py Tt 182 wH I % g I & =g gafaa &1
A. P - wave I. Beginning of systole i Lol
. P—at I 999 & amiy

H. m

C. QRS complex III. Depolarisation of atri .
atria -
D. T - wave IV. Depolarisation of . QRS leh?ST 1. sy &1 fggem
D. T-a@n V. Freal & fagen

ventricles
Choose the correct answer from the options M Rg g fermpedl ¥ § W ST @ o Eadl
(1) A-L, B-II, C-TII, D-IV

given below:
(1) A-L B-II, C-III, D-
» D-IV (2) AL B-I, C-IV, D-II

(2) A-IIL, B-I, C-IV, D-II ’
A-IV, BIIL, C-II, D-I (@) #slv B-TL G-I, Dil
(@) AL B-IV, C-L, D-III 9. Adl, BV, G-I DI
fr & B9 | BUT TE T

Which of the following statements is correct?

(1) Algal Blc.Jom_decreases fish mortality (1) S yepes et & @ @ Ua
(2) Eutrophication refers to increase in : e,
domestic sewage and waste water in lakes. (2) e aifed 7 T Al F ART A H oy
(€)% Biomagnification refers to increase in g 2 31
concentration of the toxicant at successive (3) S S F e ghfiich T R T ST
trophic levels. ' @ wiga ¥ ghg & e & |
(4) Presence of large amount of nutrients in (4) o & FTH H A AH BT EA N G
water restricts ‘Algal Bloom’ . @ Al B

Given below are two statements: ,

Statement I: RNA mutates at a faster rate. ,ﬁ & o Rg M E

Statement II: Viruses having RNA genome and Fe I: GTCAY STdamga A a0 § Seafeafa e

shorter life span mutate and evolve faster. 2l . 7

In the light of the above statements, choose the Fu II: ST SAE T B Site B CIGAERIL
e & safaria wd fela o

correct answer from the options’ given below:
(1) Statement I false but Statement I1 is true.
e Both Statement I and Statement II are

SugE BU & wH 4 o o R § ¥
t T v B TET &
rue.
(3) Both Statement I and Statement II are (1) sl ¥ &t w19 ¥
@) o Fw [ 0w

false.
\W{ Statement I is true but Statement II is (3) 24 Fam I @ 11 o | 4
false. . (@) 19 ¥ A o 1 o ¥

185 Which one of the following symbols represents . Sl
mating between relatives in human pedigree forer wTa Tl fygeraor & B A e X2
¥ g Ay @ FelE s T ?

analysis?
omHede o[1—O ocomee® o170

[—O ©@ I o [0 ©

G6_Hindi+English |
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Zoology : Section-B (Q. No. 186 to 200)

186 The parts of human brajp, that helps in regulation

/ of sexual behaviour, €Xpression of excitement,
pleasure, rage, fear etc. are :

(1) Corpus callosum ang thalamus
(2) Limbic system & hypothalamys

(3) Corpora quadrigeming & hippocampus_
@) Brain stem & epithalamyg

Match List T with Lig¢ yp.
List 1
. Logistic L
growth
. Exponential /* 1.
giowHlE  Fe—
. Expanding
age pyralmd

List 11
Unlimited resource

’ availabilitx condition
Limited resource

availability condition
III. The percent individuals
of Pre-reproductive
age is largest followed
%~ by reproductive and
POst reproductive
age groups
IV. The percent individuals
— of Pre-reproductives
and reproductive age
group are same

. Stable age
pyramid

Choose the correct answer from the options
given below:

() AL BV, cqpp, py

«@ AT, By, C-II, D1y
() AL, B, C-L, DIv
@) A, B-IV, c1, ppp-

T T H wgEl w
E. mmmﬁm%%qm@;'l
I Ry T et ¥ ¥ sk B T
(1) ¥ C,DuE E
(2), ¥ AT B
() ¥ B, Cw D
(4) ¥aw A,BTd E
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189 Select the correct statements with reference to

chordates.
A. Presence of a mid-dorsal, solid and double

nerve cord.
B. Presence of closed circulatory system

C. Presence of paired pharyngeal gllls]ns

D. Presence of dorsal heart
E. Triploblastic pseudocoelomate animals.

Choose the correct answer from the opnons
given below: 0y

(1) C, D and E only :_"'“';

(2) A, C and D only '

(3) B and C only

(4) B, D and E only )

Which of the following is characteristic. feature
of cockroach regarding sexual dlmorphlsm 2

(1) Presence of anal cerci

(2) Dark brown body colour and anal cerc1

437 Presence of anal styles

(4) Presence of sclerites

Given below are two statements:
Statement I: During G, phase of cell cycle the

cell is metabolically inactive.
Statement II: The centrosome und,ergoes

duplication during S phase of interphase..
In the light of the above statements, choose the

most appropriate answer from the optlons glven
below:
Statement I is incorrect but Statement II

?

is correct.
(2) Both Statement I and Statement II are

3)
4

correct.
Both Statement I and Statement II are

incorrect.
Statement I is correct but Statement II is

incorrect.

Which of the following are NOT under the
control of thyroid hormone?

A. Maintenance of water and ele;ctrolyte

balance
Regulation of basal metabolic rate

Normal rhythm of sleep-wake cycle’
Development of immune system
. Support the process of R.B.Cs formatlon
Choose the correct answer from the optlons
given below:
(1) Dand Eonly (2) A and D only"
(3) Band Conly (4) C and D only

G6_Hindi+English |

189 iR ¥ wad § Wl oA B waT wy
-, B T e cifir
T giEeTT O B IuRufy Waﬁm
Tl A g aem R A suRafy
I3 &9 Bl SuRafy
Tﬁ%ﬁqwﬁmﬁ%vﬁamm
ERE
(1) %@ C,Dud E =i
(2) &ad A, C gd D
(3) %aa B ug C
(4) %95 B, D wd E

ﬁwﬁﬁﬁaﬁ%ﬁﬁﬁﬁm%&wwmw
A ¥ ?

(1) 18T §@ @ Suffy

(2) TEU U IR B AT TE TG @

(3) T & B Suikafd

(4) ®o® @ Iufafy

M & w g o ¥

Fo I: HIfT =% &1 G, ot & i surmd
= A fafepa erit ¥ '

Fy I1: YW Siareeen & S waer & fa s
2
Suger Hawl & weprel #, A w10 fawedt F 9 wh
I @1 T9F HU

(1) = I s & Aot wa= 11 & #1

2) N wuw I wd a4 B

(3) o Fy= I wd II o €|

(4) wu I 9 ¥ e w11 e &1

Pt ¥ ¥ Wi arsiEs B & P A
o Qe dgd Sugd wged @ g @l
reTtry suraadl T B |
TRA—ST & 9% Bl FErd @@l

gfercen o @t |
ST AL frafor & wipar @ dieed BT

ﬁ%ﬁqwﬁmﬁﬁaﬁmwmwﬁl

() ¥s@ DT E  (2) ®%a@ ATd D

3) @M Buwi C (4 ¥aw Cwd D
[Contd...
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yS

Which one of the following is the sequence on

corresponding coding strand, if the sequence on

mRNA formed is as follows )

5° AUCGAUCGAUCGAUCGAUCG AUCG

AUCG 3°?

(1) 3° ATCGATCGAT
ATCGATCG §°

(@) 5 UAGCUAGCU
GCUAGC UAGC

(5]

4)

CGATCGATCG

/’:;GCU AGCUA
3’ UAGCUAGCUAGCUAGCUA
GCUAGCUAGC 5°

s? ATCGATCGATCGATCGATCG

ATCGATCG 3°

The unique mammal

(1) pinna, monoco
glands

@)

hairs, ty

glands

¢3¥ hairs, pinna and mammary glands .

(4) hairs, pinna and indirect development
Which one of the following is NOT an advantage
of inbreeding? .

(1) It decreases the productivity of inbred

population, after continuous inbreeding,
(2) It decreases homozygosity.
3

It exposes harmful recessive
eliminated by selection.
(4) Elimination of less desirable genes and

accumulation of superior genes takes place
due to it.

ian characteristics are:.
ndylic skull and mammary

mpanic membrane and mammary

genes that are

196" Which of the following statements are correct ?

A. Basophils are most abundant cells of the
total WBCs :
Basophils secrete
heparin

Basophils are involved in infl
response

histamine, serotonin and
ammatory
E.

Cho

Basophils have kidney shaped nucleusv
Basophils are agranulocytes
ose the correct
given below:

(1)r Aand B only
(3) Cand E only

answer from the options

33
Select the correct statements.
A. Tetrad formation

and E only
and C only

is seen during Leptotene.
During Anaphase, the centromeres split and
chromatids separate.

Terminalization takes place during
Pachytene.

Nucleolus, Golgi complex and ER are
reformed during Telophase. .
Crossing over takes place between osr:?;ef
chromatids of homologous Chrot?oiptioﬁs
Choose the correct answer from the

given below: (2) A and C only

1) B and E only C only.
§3% B :rr\ld D only (4) A,Cand

G6_Hindi+English ]

193 3 =% gu mRNA @

T T mar &
GAUCGAUCG AUCG
ST TS B T

3’ ATCGATCGATCGATCGATCG
ATCGATCG 5°

5’ UAGCUAGCUAGCUAGCUA
GCUAGC UAGC 3’

3’ UAGCUAGCUAGCUAGCUA
GCUAGCUAGC 5°

5’ ATCGATCGATCG
ATCGATCG 3°
o fafireand wwe
BT, RSt
H2) dm, wot e T

C3) ™, woiura ws w@s T i '

~@) W, FoivrwE ud swes R
195 Ly

k(1)

8> AUCGAUCGAUC:
-AUCG 3’, a9 B &
B ? '

Ty
@

F s \
LY T

(3

@ ATCGATCG

194 ‘g
w1

%ﬁwda:mawmﬂﬁ%?
wm&a:wﬁsmwm:mﬁqﬁzaﬁ
JSHEHAT B HLET )
(2) T® S W wmn w3
S3) usmﬁqa\ﬂmmhihﬁaﬁmﬁqa
A =1 T Mremtra feg ey ¥
sﬂ%mmmﬁﬁiw-ﬁwqﬁ
%ﬁﬁw%ﬁ‘hﬁmﬂwﬁm%l

TR
Nt

11(4)

S

HTAT T T

YRR sty aRifraedt ¥ afaf @
AW ¥ gaw B BRI B FEE o B
TEREE TR B ¥ i
%qmﬁﬂﬁﬁwwwa?;

() ¥ ATdB () Fm DL

(@) ¥wCwE @) ¥
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In cockroach, excretion is brought about by-
A. Phallic gland  B. Urecose gland

c. Nephrocytes D. Fat body —

E. Collaterial glands

Choose the correct answer from the options

given below:
€D B and D only
(2y A and E only
(3) A, B and E only
(4) B, C and D only

198

199 Match List I with List II.
List I List 1I

A. Mast cells I. Ciliated epithelium

B. Inner surface II.  Areolar
connective tissue

of bronchiole”
Cuboidal epithelium

C. Blood I11.
Tubular parts TV, specialised

D.
of nephron connective tissue

Choose the correct answer from the options give

below:

(1) A-IL B-1V, C-II, D-I
(2) A-l, B, C-1v, D-1II
(3) A-ll, B-III, C-1, DIV .
(4) A-l, B-l, C-1v, D-1II

Which of the following statements aré correct

regarding skeletal muscle?

A. Muscle bundles are held together by
collagenous connective tissue layer called
fascicle.

Sarcoplasmic reticulum of muscle fibre is
a store house of calcium ions.

Striated appearance of skeletal muscle fibre
is due to distribution pattern. of actin and
myosin proteins.

M line is considered as functional unit of
contraction called sarcomere.

Choose the most appropriate answer from the
options given below:

(1) C and D only

(2) A, B and C only

(3) B and C only

(4) A, C and D only
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